goudgdooogbooooooobboooobon

21 Oct 2005 (last updated on 31 Jan 2006)
ugooobbbb oooooooobooooo
gogn

1. 0000

gogbboobooooboobooobuoobooboooobooboobooboobobobooobboan
gobobooobooobuooooob ooooooboboobooooboooooboobobood
gooogo

200000n0boo0ooobon
2100000000000000000

oo0oooO0obOoOOoODOOoOoooOoSpyboboobobooooooo

T 2

Sgo = 2 (%) (h sin¢ sind + sin h cos ¢ cosd), (1)
™
h = cos }(—tan¢ tand), (2)
(do/d)*> = 1.00011 + 0.034221 cosn + 0.00128 sinn

+0.000719 cos 21 + 0.000077 sin 27, (3)
) = sin"1(0.398 x sinay), (4)
ay = 4.871+n+ 0.033sinn, (5)
n = (27/365) x DOY. (6)
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No = 2H/0.2618, (7)
sin(H/2) = [A/(cos¢ cosd)]'/?, (8)
A = sin(n/4+(p—0+7)/2)sin(n/4—(p—0—1)/2). 9)

000 H (rad)DO00OO0OO0OO r (=00lrad) 000000000 O0OO0OOOOOOODODO



230000000000

O000O00000ooooO0 N (h)W(OOODOOOODOOUOooOoOOooOO)oDDoooooOood
OOo0oooooosS;,000000DbO0o0ooO

S4/Sqp = 0.244 4 0.511(N/Np) 0<N/Np <1, (10)
= 0.118 N/Ny = 0. (11)
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